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1. voulfMeuniiaed 28.4 w3 11110 397.6 N1ans uaLiANNHUUY 1. A uniform stick of length 28.4 m has a mass of 397.6 kg.
° :’ @ J 9 { [ {a [ - 1 1
aswaue minveanien line 1 wes swmnunn lansy Calculate the mass of a 1-meter long stick in kg.
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2. lm¥ene1 75.36 uAwas aouduienan 191119nauuIS AN 2. A circle was made with thread of 75.36 cm in length.
ﬁmuﬁmm (ﬁ"l‘l/iuﬂ‘lﬁ)i% T 191 3.14) What is the radius of this circle? (Use 3.14 for TL.)
3. 5o lWvauniadeszriengamwiue kg 1azaoaserIanei 3. A train operates between Bangkok and Hatyai. The train will
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ao1ianiu aoiyuns tazanniinmge vzaumennaniinilali stop at Huahin, Chumporn and Pattalung stations. How many
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amuwuﬂﬂmwmmmu

d 4. If4A:B= :3,B:C=5: ,and A :B:C=60:45:72.
4. WeAd:B=[]:3, B:C=5:[ |, uaz4:B:C=60:45:72. 03, [, an
o o dy a What is the sum of all the values for the blanks?
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5 ﬁ]\iﬁiﬁiiu?uﬂlﬂ N ﬁﬁﬁﬂlﬁf@ﬂﬁﬁﬂ ﬁﬁﬂﬁ”lijflﬁ’lﬂi%ﬂﬂ‘}ﬂ]ﬂﬁ 18 5. Find the smallest natural number IV such that there exists
A ' no divisor of 18 which is greater than N .
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6. D1IUIUUDNKIT 24 A9AT UNNHUA 72 A2 LAZVIUIUUUNHNT 2 X5 6. 24 can be divided by m natural numbers, and 2 X5
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; 4 o o ivi 2 1 . Calculate m + .
A9A2 UNIHNUA 20 A2 WHIAVOI m + 1 (e m a1 1TusuIuiy) can be divided by 20 natural numbers. Caleulate 1 -+

7. Tuszuumygvaes A1 mautiu 4 uaz B lauvinu 1000, 1ay 7. Tn binary system, two natural numbers 4 and B are
o w o A d { 1 ' @ . .
101101, MUARY TUIUATUNY VDL 4 NBEYTENIN A U B 1000, and 101101, respectively. How many multiples
ﬁ zﬁwj\]ﬂﬁﬁ1u’gu of 4 are there between 4 and B?
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8. Lﬁmmuﬂqmmmmuu‘u NUIUAY LAIUIUATINGE AN N, Z 1 8. If N, Zand Q represent the sets of natural numbers, integers
o o ° { ' ' P ; ; i
Q MWW (FrmauassnezAe i IunaTadevey lugihayau la and rational mumbers, respectively. (4 rational number can
Taviisumuuazsraaudlusnuduuazdaan lmsy o) be expressed as a fraction of Integers with a non-zero
Q denominator.)
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How many numbers in the box belong to the shaded area in

the diagram?
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4 a

Arudmasg

o o 3 v Y [ .
10. MHUUATIHIUAY « uay b Hadane 1T 93911A 109 h—a 10. Integers  and b are given below. Evaluate b—a

a:(—3)2><(—2)3—(%)4><42

a:<_3)2><<_2)3_<%>4x42
b:_32+(_1)100+(_1)50

b:_32+(_1)100+(_1)50
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11. The symbol * - » represents the calculation

pattern given below.
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If the numbers are calculated in the same pattern, find the
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12. A solid figure is formed by rotating a planar figure P

9y a ] 1A A . . .
Y01 P oz lagiisnasiaauiaasgl 9aman P Inuinmsuaudmues about an axis along a side of I What is the area of P
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13. Ann paid 75,000 won for the total of 80 pieces of
bread, cake and cookie. The ratio of the number of pieces of
bread : cake : cookie is 8 : 5 : 3, and ratio of the price of
bread : cake : cookieis 4 :5: 6.

What is the price of one piece of bread in won?

14. To paint a square wall with 0.5m length requires 2 liters of
paint. How much paint is needed to pain all exterior
surfaces of a cylindrical shaped sculpture with 2m radius
and 3m height? (The surface of the wall and the surface of
the surface of the sculpture are of the same type. Use 3 for

T in the calculation.)

15. A toy factory has the total of 20 male and female workers.
Each male worker makes 30 toys per day, while each
female worker makes 10 toys per day. One day 4 male
workers were absent, so each remaining male worker had to
make 12 additional toys to fulfill the required yield. How

many female workers are there?

16. There are 35 teenagers. 18 of them are not near-sighted,
and 6 of them are near-sighted but do not wear glasses.

How many of them are near-sighted and wear glasses?

17. The diagram of the prime factorization of a natural number A
is given below.
If E = B+ D, what is the sum of all possible values of A ?

(B, D and E are prime numbers smaller than 10).
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18.

When a natural number N is divided by 2, 3, 4 and 6,
all the remainders are 1.

Find the value of N which is closest to 500?

19. Consider the number line.

21.

The distance between two numbers with the absolute value
of 8 is divided into 4 equal parts, and A represents the

smallest value among these dividing points.

Similarly, the distance between two numbers with absolute
value of 5 is divided into 5 equal parts, and B represents

the second largest value among the dividing points.

What is the distance between A and B ?

. The box below shows a sequence of numbers, which each

term is obtained by dividing the product of two former

numbers by the sum of those two numbers.

If the 10" term is l , what is the value of n ?
n

1 1 1
34 T I

Three cylinders with radius of 3cm are placed side by side
so that the centers of the bases are aligned on a straight line.
The figure is then cut along the points C and D, where the
height of C is 14cm from A and the height of D is 6cm
from B.

What is the volume of this solid figure in cm3?

(Use 3 for T in your calculation.)
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22. Eight rectangles of the same shape are used to make two

different types of large rectangles as shown in Fig. 1 and
Fig.2. If the area of Fig.1 is 216 cmz, then what is the

perimeter of shaded part of Fig.2 in cm?

[ Fig 1] | Fig 2]

23. 7 plates are written with numbers from 1 to 7. Considering

all possible sets of 5 plates, find the grand sum of the sum

of the numbers written on all 5 plates in each set.

92

24. If each of 192 and 84 — A can be written as a square of

a natural number, and 4 has two digits. Find the value of 4

25. In the binary system, natural numbers containing two 1’s

are listed with a pattern.

11

2

101,110

22 2

1001,, 1010,, 1100,
1001,, 10010, 10100,, 11000,

If the 5" number from the left in the 8" row from the top

4
can be expressed in the decimal system as @ X 2 What is

the value of a ?

26. Each natural numbers from 1 to 100 is divided by 3 l
3

and simplified to irreducible fractions. Find the sum of
denominators of all irreducible fractions which are not

natural numbers.

N/
P g s @
Soudu




o = A
TME USeuAnYIUN 1

27. ihgdenumasuyuaniig ez aiug

a3

U

917 8 KEUAINAT 31U 10 31

Y o Y o 9.9 { oAy
WFsIFeUAnUAtglaIua Tae ldgl@masuauving @

Y

cL :
Dnudlu 2 mesglamasy ®

Qs: A 3 a ~ 9 @ Y A &
JMNUU ﬂ34uqﬁjﬂﬁ’]iﬂﬁaﬂhﬂﬂﬁﬂzﬂﬂ'ﬂ@%@uﬂuﬁ@ﬂlﬁuﬁi\i I Ny

Y ) ~ ) Y qo o
muﬁiwmuumﬂmmgﬂmumaﬂugﬂqu LL@’I'JGI,G]S'U'Z'LHU@IQE‘]JVI'D’Q

Y
= =

Ay v ' Y o AN YA A A A
Vlulﬂmmmau,ﬂumgu ’1]\'11’1’]'311’7uWﬂﬂﬂklﬂiquﬂﬂﬁTiW\HGﬁu@I!JJ@'D_

' 1 o ' o <
28. ﬁgﬂﬂ@ﬁ@gil‘lﬂﬁﬂq A lae B Iﬂﬂ@ﬂi’]ﬁ?um@ﬂﬂ’]u?u@jﬂﬂ@ﬁlﬂu 2:9 28.

A A 4

] I ' Y ) = 1w
ANuUIun Elﬂgﬂﬂﬂaﬁuﬂ@,ﬂmﬂﬂa@\‘lAllaiqﬂgﬂﬂﬂﬁﬁﬁnﬂTﬂU

4

A o J

1 ' 2 A a = ' Yy 4y 2
- ﬂ’)ﬁJuW%glﬂu‘ﬂﬂﬂUQﬂU@ﬁﬁHQQﬂ%Wﬂﬂﬁ@ﬁ B Llﬁﬁqﬂgﬂﬂﬂaﬁﬂ1

Y 2 QEII 1< 1 9
NUY 9 13 ‘lﬂaﬂ’U’E]ﬁiﬂﬂﬂﬁEN‘ﬂ\‘lﬁ’f]\ill'l‘i’)ﬂlﬂﬂﬂﬁ@\?@ﬂ') a1

U

' 2 A a 9 ~ Vo n '
ﬂ')’lllu’mglﬂuﬂﬂgﬂEJ‘]JhlﬂgﬂU@aﬁﬁ'l!ﬂ'lﬂ‘U H WUV m +n

4 I [ 1 ¢;
(1o L e auet1adi)

E4
29. 9nuuugmssude li

Afafinil: 215 —215 % 4
4

o)
g

k4 1
v A
N

INa99 : all 11 Vo4 @ pan91n @)

ATINTIN : Y % VBN @ 29NIN @

Y
v A

v o < 1
NaansveImsnuInasInaudumila

Y o o o = Y A 9 ] dy
30. ﬂ']ﬁ]"lﬂ'luu‘llﬁaﬂ‘l]']‘Ll'J1!llﬂTﬁ@ﬂﬂaﬂﬂlﬂﬂullsuﬁ'lﬂallﬂﬁﬂllﬂu

29.

o dyd
(D) HAUINUDIFDINIUIUUAD 323

Y
(m) NIA0IUIURAININATI 70

Y (Y ] Y o dyy @ ] Y
(V) ﬂ']qYT'ﬁ@'Jﬂmi’JNu@EJGU'E’]Qﬁ'E—JQEI]']u’Juuﬂ'JEJ GITHﬁ‘J’nJmﬂi]zhlﬂ 60

o d'd 1 J IS 1 2 1
NuIURRMVINAMERAINUI 1

aiuayulag

Rt
#

nnnnn

27.

Ten right triangles with the base and the height of 8cm
each are placed together so that the area of parallelogram (@),

is double of the area of triangle (.

If all these triangles are rotated about the line [ which is
the hypotenuse of the last triangle, then the solid figure is
cut along the rotation axis. What is the area of the cross

. . 2
section in cm’?

The ratio of the numbers of balls in boxes A and Bis 2 : 9.
The probability of getting a blue ball from box A is i,
and that of getting a blue ball from box B is % .

When the balls in the two boxes are mixed, the probability

of getting a blue ball is % .

Find the value of m + n (when % is irreducible).

Based on the pattern below, what is the value of 10" term?

1*term: 215 — 215 x & @
2" term: 14—1 of @) is subtracted from @ ... ®

3" term: % of ® is subtracted from ®). ...(©)

What is the result in the 10" round?

30.Two natural numbers satisfy the following three conditions.

(a) The sum of the two numbers is 323.

(b) When the least common multiple of these two number
is divided by their greatestcommon divisor, the result
is 60.

(¢c) Both of them are greater than 70.

Find the value of the greater number.
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